-

|_ Transfer or duplication of this doucument as well as the utilisation or communication of its content are not permitted unless express

consen is granted. Violations give rise to claims for damages. All rights reserved in case of patent, utility model or design patent

registrafions.

Technical data

1.Nominal voltage: 300V/15A (IEC 630V/15A)

PITCH:7.0mm

DIM A+15.0 ﬁ . .
100 2.Connection capacity:
A f AWG 22-14/0.5-2.5mm2
P — - 3.Insulation Withstanding Voltage:
fvl L (1 AC 1600V/MIN /AC 2500V /MIN
@ - LInsulation Resistance:
- = 1000MLor more at DC500V
Ol 1 /_ ) 5.Tightening torque:
| | // | 15.6 Lb-In (1.8N.m/18kgf.cm)
6.Screw thread: M3
= 23.0 4 DIM A+8.2 \ al e q.cm_:.@ +m5_um_.m3_.m range:-40C°~115C°
SIS 8.Undimen sioned Tolerances:
g p 2 Dim. A=(P-1)x7.0
ﬁ 4 — 010 3 P=1/2number of poles (2x10p/2x16p)
b d _ __ __ __ —_ __ __ __ I Dim A
n || | ! 2x10P 63.0 £0.30
m _. - 2x16P 105.0 £0.40
b L K 2
= ® o) o) 9.Safety approval:
| 10.RoHS Compliance
[ _ 11.Critical dimension: \&/
L
29.4
5 ZGAAT700 xx GOOK
@ 41 DIM A Y 120 [©)
10\ 75 ®Poles 20(2x10P),32(2x16P)
1 1 1
OH TH T
| | |
- y |
N ==
DM As240  \/ 7 | cover PC UL9LV-0 GRAY RAL7032 2
6 | FLANGE NUT BRASS M3x0.5, 6
5 | HEXAGON NUT | STEEL M3x0.5, Ni Plated Px2
L | SCREW+WASHER| STEEL M3x0.5, Zn&Ni alloy Plated | Px2
3 | Current Board 2 | BRASS Ni PLATED P/2
2 | Current Board 1 | BRASS Ni PLATED P/2
1 | BODY PC UL94V-0 GRAY RAL7032 1
ITEM| NAME OF PART MATERIAL NOTES Q"TY
DWG.[ WF. Zhang DATE[ 2019.09.12 | UNITS: MM SHEET: _ 10F1 Tolerance
CHK.| WF. Zhang  [DATE[ 2020.05.20 [SCALE: [ NONE11(:) [REV.C X. +0.50
APP. DATE TITLE. |ZG-AAT00 Series I | xx - +0.30
C | A | BKPTssm s & o, A N3, |WFZ | 5/20120) - . ) U T R XXX 20.10
B | A [wiHhialbasthnindm, Wk 2pigy, |WRZ [ 9/1219 ooy 00: e [ ART NO.|ZGAAT00XXGOOK X2 s
REV [SIGN DESCRIPTION CHK. | DATE DWG NO. |ZG-AA700-B001 @ =3

|





